BULLETIN OF MATHEMATICAL ANALYSIS AND APPLICATIONS ISSN: 1821-1291, URL: http://www.bmathaa.org Volume 4 Issue 4 (2012), Pages 76-90.

## SOME SERIES IDENTITIES FOR SOME SPECIAL CLASSES OF APOSTOL-BERNOULLI AND APOSTOL-EULER POLYNOMIALS RELATED TO GENERALIZED POWER AND ALTERNATING SUMS

(COMMUNICATED BY R.K. RAINA)

### B.-J. FUGÈRE, S. GABOURY, R. TREMBLAY

ABSTRACT. The purpose of this paper is to obtain several series identities involving some classes of generalized Apostol-Bernoulli and Apostol-Euler polynomials introduced lately by Srivastava et al. in [16, 17] as well as the generalized sum of integer powers, the generalized alternating sum and the analogues of the expansions of the hyperbolic tangent and the hyperbolic cotangent. The method used is that of generating functions. It can be found that many identities recently obtained are special cases of our results.

### 1. INTRODUCTION, DEFINITIONS AND NOTATIONS

The generalized Bernoulli polynomials  $B_n^{(\alpha)}(x)$  of order  $\alpha \in \mathbb{C}$ , the generalized Euler polynomials  $E_n^{(\alpha)}(x)$  of order  $\alpha \in \mathbb{C}$  and the generalized Genocchi polynomials  $G_n^{(\alpha)}(x)$  of order  $\alpha \in \mathbb{C}$ , each of degree *n* as well as in  $\alpha$ , are defined respectively by the following generating functions (see,[4, vol.3, p.253 et seq.], [8, Section 2.8] and [10]):

$$\left(\frac{t}{\mathrm{e}^t - 1}\right)^{\alpha} \cdot \mathrm{e}^{xt} = \sum_{k=0}^{\infty} B_k^{(\alpha)}(x) \frac{t^k}{k!} \qquad (|t| < 2\pi; 1^{\alpha} := 1), \tag{1.1}$$

$$\left(\frac{2}{\mathrm{e}^t + 1}\right)^{\alpha} \cdot \mathrm{e}^{xt} = \sum_{k=0}^{\infty} E_k^{(\alpha)}(x) \frac{t^k}{k!} \qquad (|t| < \pi; 1^{\alpha} := 1)$$
(1.2)

and

$$\left(\frac{2t}{\mathrm{e}^t + 1}\right)^{\alpha} \cdot \mathrm{e}^{xt} = \sum_{k=0}^{\infty} G_k^{(\alpha)}(x) \frac{t^k}{k!} \qquad (|t| < \pi; 1^{\alpha} := 1).$$
(1.3)

The literature contains a large number of interesting properties and relationships involving these polynomials [1, 2, 3, 4, 5, 15]. Q.-M. Luo and Srivastava ([12, 14]) introduced the generalized Apostol-Bernoulli polynomials  $\mathfrak{B}_n^{(\alpha)}(x)$  of order  $\alpha$ ,

<sup>1991</sup> Mathematics Subject Classification. Primary 11B68; Secondary 11S80.

*Key words and phrases.* Bernoulli numbers and polynomials, Euler numbers and polynomials, Genocchi numbers and polynomials, Apostol-Bernoulli polynomials, Apostol-Euler polynomials, Apostol-Genocchi polynomials, Generalized power sums, Generalized alternating sums. Submitted June 19, 2012. Published November 6, 2012.

Q.-M. Luo [9] investigated the generalized Apostol-Euler polynomials  $\mathfrak{E}_{n}^{(\alpha)}(x)$  of order  $\alpha$  and the generalized Apostol-Genocchi polynomials  $\mathfrak{G}_{n}^{(\alpha)}(x)$  of order  $\alpha$  (see also,[10, 11, 13]).

The generalized Apostol-Bernoulli polynomials  $\mathfrak{B}_{n}^{(\alpha)}(x;\lambda)$  of order  $\alpha \in \mathbb{C}$ , the generalized Apostol-Euler polynomials  $\mathfrak{E}_{n}^{(\alpha)}(x;\lambda)$  of order  $\alpha \in \mathbb{C}$ , the generalized Apostol-Genocchi polynomials  $\mathfrak{G}_{n}^{(\alpha)}(x;\lambda)$  of order  $\alpha \in \mathbb{C}$  are defined respectively by the following generating functions

$$\left(\frac{t}{\lambda e^t - 1}\right)^{\alpha} \cdot e^{xt} = \sum_{k=0}^{\infty} \mathfrak{B}_k^{(\alpha)}(x;\lambda) \frac{t^k}{k!} \qquad (|t + \ln \lambda| < 2\pi; 1^{\alpha} := 1)$$
(1.4)

$$\left(\frac{2}{\lambda \mathbf{e}^t + 1}\right)^{\alpha} \cdot \mathbf{e}^{xt} = \sum_{k=0}^{\infty} \mathfrak{E}_k^{(\alpha)}(x;\lambda) \frac{t^k}{k!} \qquad (|t + \ln \lambda| < \pi; 1^{\alpha} := 1)$$
(1.5)

and

$$\left(\frac{2t}{\lambda \mathbf{e}^t + 1}\right)^{\alpha} \cdot \mathbf{e}^{xt} = \sum_{k=0}^{\infty} \mathfrak{G}_k^{(\alpha)}(x;\lambda) \frac{t^k}{k!} \qquad (|t + \ln \lambda| < \pi; 1^{\alpha} := 1).$$
(1.6)

It is easy to see that

$$B_n^{(\alpha)}(x) = \mathfrak{B}_n^{(\alpha)}(x;1), \quad E_n^{(\alpha)}(x) = \mathfrak{E}_n^{(\alpha)}(x;1) \qquad \text{and} \quad G_n^{(\alpha)}(x) = \mathfrak{G}_n^{(\alpha)}(x;1).$$

Recently, Srivastava et al. in [16, 17] have investigated some new classes of Apostol-Bernoulli, Apostol-Euler and Apostol-Genocchi polynomials with parameters a, b and c defined by the following generating functions.

**Definition 1.1.** Let  $a, b, c \in \mathbb{R}^+$ ,  $(a \neq b)$  and  $n \in \mathbb{N}_0$ . The generalized Apostol-Bernoulli polynomials  $\mathfrak{B}_n^{(\alpha)}(x;\lambda;a,b,c)$  of order  $\alpha$ , the generalized Apostol-Euler polynomials  $\mathfrak{E}_n^{(\alpha)}(x;\lambda;a,b,c)$  of order  $\alpha$  and the generalized Apostol-Genocchi polynomials  $\mathfrak{G}_n^{(\alpha)}(x;\lambda;a,b,c)$  of order  $\alpha$  are defined respectively by the following generating functions

$$\left(\frac{t}{\lambda b^t - a^t}\right)^{\alpha} c^{xt} = \sum_{n=0}^{\infty} \mathfrak{B}_n^{(\alpha)}(x;\lambda;a,b,c) \frac{t^n}{n!}, \ \left(\left|t\ln\left(\frac{a}{b}\right) + \ln\lambda\right| < 2\pi; 1^{\alpha} := 1\right),$$
(1.7)

$$\left(\frac{2}{\lambda b^t + a^t}\right)^{\alpha} c^{xt} = \sum_{n=0}^{\infty} \mathfrak{E}_n^{(\alpha)}(x;\lambda;a,b,c) \frac{t^n}{n!}, \ \left(\left|t\ln\left(\frac{a}{b}\right) + \ln\lambda\right| < \pi; 1^{\alpha} := 1\right) \ (1.8)$$

and

$$\left(\frac{2t}{\lambda b^t + a^t}\right)^{\alpha} c^{xt} = \sum_{n=0}^{\infty} \mathfrak{G}_n^{(\alpha)}(x;\lambda;a,b,c) \frac{t^n}{n!}, \ \left(\left|t\ln\left(\frac{a}{b}\right) + \ln\lambda\right| < \pi; 1^{\alpha} := 1\right).$$
(1.9)

If we take a = 1, b = c = e in (1.7), (1.8) and (1.9) respectively, we have (1.4), (1.5) and (1.6). Obviously, when we set  $\lambda = 1$ ,  $\alpha = 1$ , a = 1, b = c = e in (1.7), (1.8) and (1.9), we have classical Bernoulli polynomials  $B_n(x)$ , classical Euler polynomials  $E_n(x)$  and classical Genocchi polynomials  $G_n(x)$ .

For each  $k \in \mathbb{N}_0$ ,  $S_k(n)$  defined by

$$S_k(n) = \sum_{j=0}^{n} j^k$$
(1.10)

is called the sum of integer powers. The exponential generating function for  $S_k(n)$ is given by [19]

$$\sum_{k=0}^{\infty} S_k(n) \frac{t^k}{k!} = \frac{\mathrm{e}^{(n+1)t} - 1}{\mathrm{e}^t - 1}.$$
(1.11)

We now define the generalized sum of integer powers as follows.

**Definition 1.2.** For an arbitrary real or complex  $\lambda$ , the generalized sum of integers powers  $S_k(n; \lambda)$  is defined by the generating relation

$$\sum_{k=0}^{\infty} S_k(n; \lambda) \frac{t^k}{k!} = \frac{\lambda e^{(n+1)t} - 1}{\lambda e^t - 1}.$$
(1.12)

It is obvious that

$$S_k(n;1) = S_k(1). (1.13)$$

For  $k \in \mathbb{N}_0$  and  $n \in \mathbb{N}$ ,  $T_k(n)$  defined by

$$T_k(n) = \sum_{k=0}^{n-1} (-1)^k n^k$$
(1.14)

is called the alternating sum. The exponential generating function for  $T_k(n)$  is given by

$$\sum_{k=0}^{\infty} T_k(n) \frac{t^k}{k!} = \frac{1 - (-1)^n e^{nt}}{1 + e^t}.$$
(1.15)

The generalized alternating sum of order  $\alpha$  is defined in [7] as follows.

**Definition 1.3.** For any arbitrary real or complex parameter  $\lambda$ , the generalized alternating sum of order  $\alpha$ ,  $T_k^{(\alpha)}(n; \lambda)$  is defined by the following generating function:

$$\sum_{k=0}^{\infty} T_k^{(\alpha)}(n; \lambda) \frac{t^k}{k!} = \left(\frac{1-\lambda(-1)^n e^{nt}}{1+\lambda e^t}\right)^{\alpha}.$$
(1.16)

It is easy to observe that

$$T_k^{(1)}(n;1) = T_k(n).$$
 (1.17)

In this paper, we present several series identities involving the generalized Apostol-Bernoulli and the generalized Apostol-Euler polynomials defined respectively by (1.7) and (1.8). In Section 2, we obtain several symmetry identities for the generalized Apostol-Bernoulli polynomials a relation between the these polynomials and the generalized sum of integer powers (1.12). In Section 3, we prove several identities involving the generalized Apostol-Euler, the generalized alternating sum and the analogues of the expansions of the hyperbolic tangent and the hyperbolic cotangent. Some identities are also obtained by using the relationships between the generalized Apostol-Bernoulli, Apostol-Euler and Apostol-Genocchi polynomials.

# 2. Symmetry identities for the generalized Apostol-Bernoulli polynomials

In this section, we establish some symmetry identities involving the generalized Apostol-Bernoulli polynomials  $\mathfrak{B}_n^{(\alpha)}(x;\lambda;a,b,c)$  defined in the first section and the generalized sum of integer powers defined by (1.12). This is done by using the method of generating functions. These results provides generalization of known identities [18, 21, 22, 23]

**Theorem 2.1.** For all integers  $\mu > 0$ ,  $\nu > 0$ ,  $\alpha \ge 1$ ,  $n \ge 0$ , for  $a, b, c \in \mathbb{R}^+$  $(a \ne b)$  and for  $\lambda \in \mathbb{C}$ , we have the following identity:

$$\sum_{k=0}^{n} \binom{n}{k} \mathfrak{B}_{n-k}^{(\alpha)} \left( \nu x + \frac{(\mu-1)\nu \ln a}{\mu \ln c}; \lambda; a, b, c \right) \mu^{n-k} \nu^{k+1}$$

$$\times \sum_{i=0}^{k} \binom{k}{i} S_{k-i}(\mu-1,\lambda) \mathfrak{B}_{i}^{(\alpha-1)}(\mu y; \lambda; a, b, c) \left[ \ln \left( \frac{b}{a} \right) \right]^{k-i}$$

$$= \sum_{k=0}^{n} \binom{n}{k} \mathfrak{B}_{n-k}^{(\alpha)} \left( \mu x + \frac{(\nu-1)\mu \ln a}{\nu \ln c}; \lambda; a, b, c \right) \nu^{n-k} \mu^{k+1}$$

$$\times \sum_{i=0}^{k} \binom{k}{i} S_{k-i}(\nu-1,\lambda) \mathfrak{B}_{i}^{(\alpha-1)}(\nu y; \lambda; a, b, c) \left[ \ln \left( \frac{b}{a} \right) \right]^{k-i}.$$
(2.1)

*Proof.* Considering  $g(t) = \frac{t^{2\alpha-1}c^{\mu\nu xt}(\lambda b^{\mu\nu t} - a^{\mu\nu t})c^{\mu\nu yt}}{(\lambda b^{\mu t} - a^{\mu t})^{\alpha}(\lambda b^{\nu t} - a^{\nu t})^{\alpha}}$ . We have to expand the last function into series in two way to prove the theorem. We have

$$g(t) = \frac{t^{2\alpha-1}c^{\mu\nu xt}(\lambda b^{\mu\nu t} - a^{\mu\nu t})c^{\mu\nu yt}}{(\lambda b^{\mu t} - a^{\mu t})^{\alpha}(\lambda b^{\nu t} - a^{\nu t})^{\alpha}}$$

$$= \frac{1}{\mu^{\alpha}\nu^{\alpha-1}} \left(\frac{\mu t}{\lambda b^{\mu t} - a^{\mu t}}\right)^{\alpha} c^{\nu x\mu t} \left(\frac{\lambda b^{\mu\nu t} - a^{\mu\nu t}}{\lambda b^{\nu t} - a^{\nu t}}\right) \left(\frac{\nu t}{\lambda b^{\nu t} - a^{\nu t}}\right)^{\alpha-1} c^{\mu\nu yt}$$

$$= \frac{c^{\left(\frac{\mu-1}{\ln c}\right)\nu t\ln a}}{\mu^{\alpha}\nu^{\alpha-1}} \left(\frac{\mu t}{\lambda b^{\mu t} - a^{\mu t}}\right)^{\alpha} c^{\nu x\mu t} \left(\frac{\lambda \left(\frac{b^{\nu}}{a^{\nu}}\right)^{\mu t} - 1}{\lambda \left(\frac{b^{\nu}}{a^{\nu}}\right)^{t} - 1}\right) \left(\frac{\nu t}{\lambda b^{\nu t} - a^{\nu t}}\right)^{\alpha-1} c^{\mu\nu yt}$$

$$= \frac{1}{\mu^{\alpha}\nu^{\alpha-1}} \left(\sum_{n=0}^{\infty} \mathfrak{B}_{n}^{(\alpha)} \left(\nu x + \frac{(\mu-1)\nu \ln a}{\mu \ln c}; \lambda; a, b, c\right) \frac{(\mu t)^{n}}{n!}\right)$$

$$\times \left(\sum_{k=0}^{\infty} S_{k}(\mu - 1, \lambda) \left[\nu \ln \left(\frac{b}{a}\right)\right]^{k} \frac{t^{k}}{k!}\right) \left(\sum_{i=0}^{\infty} \mathfrak{B}_{i}^{(\alpha-1)}(\mu y; \lambda; a, b, c) \frac{(\nu t)^{i}}{i!}\right)$$

$$= \frac{1}{\mu^{\alpha}\nu^{\alpha}} \sum_{n=0}^{\infty} \left[\sum_{k=0}^{n} \binom{n}{k} \mathfrak{B}_{n-k}^{(\alpha)} \left(\nu x + \frac{(\mu-1)\nu \ln a}{\mu \ln c}; \lambda; a, b, c\right) \mu^{n-k} \nu^{k+1}$$

$$\times \sum_{i=0}^{k} \binom{k}{i} S_{k-i}(\mu - 1, \lambda) \mathfrak{B}_{i}^{(\alpha-1)}(\mu y; \lambda; a, b, c) \left[\ln \left(\frac{b}{a}\right)\right]^{k-i} \right] \frac{t^{n}}{n!}.$$
(2.2)

By expanding in a different way, we have

$$g(t) = \frac{1}{\nu^{\alpha}\mu^{\alpha}} \sum_{n=0}^{\infty} \left[ \sum_{k=0}^{n} \binom{n}{k} \mathfrak{B}_{n-k}^{(\alpha)} \left( \mu x + \frac{(\nu-1)\mu \ln a}{\nu \ln c}; \lambda; a, b, c \right) \nu^{n-k} \mu^{k+1} \right] \\ \times \sum_{i=0}^{k} \binom{k}{i} S_{k-i}(\nu-1,\lambda) \mathfrak{B}_{i}^{(\alpha-1)}(\nu y; \lambda; a, b, c) \left[ \ln \left( \frac{b}{a} \right) \right]^{k-i} \frac{t^{n}}{n!}.$$

$$(2.3)$$

By setting a = 1, b = c = e in Theorem 1, we obtain one of the results exhibited by Zhang and Yang [23, Eq. 8]:

**Corollary 2.2.** For all integers  $\mu > 0$ ,  $\nu > 0$ ,  $\alpha \ge 1$ ,  $n \ge 0$  and for  $\lambda \in \mathbb{C}$ , we have

$$\sum_{k=0}^{n} \binom{n}{k} \mathfrak{B}_{n-k}^{(\alpha)}(\nu x; \lambda) \ \mu^{n-k} \ \nu^{k+1} \sum_{i=0}^{k} \binom{k}{i} \ S_{k-i}(\mu-1,\lambda) \ \mathfrak{B}_{i}^{(\alpha-1)}(\mu y; \lambda)$$
$$= \sum_{k=0}^{n} \binom{n}{k} \mathfrak{B}_{n-k}^{(\alpha)}(\mu x; \lambda) \ \nu^{n-k} \ \mu^{k+1} \sum_{i=0}^{k} \binom{k}{i} \ S_{k-i}(\nu-1,\lambda) \ \mathfrak{B}_{i}^{(\alpha-1)}(\nu y; \lambda).$$
(2.4)

Putting x = 0, y = 0 and  $\alpha = 1$  in Theorem 1, we have:

**Corollary 2.3.** For all integers  $\mu > 0$ ,  $\nu > 0$ ,  $n \ge 0$  and for  $a, b, c \in \mathbb{R}^+$   $(a \ne b)$  and  $\lambda \in \mathbb{C}$ , we have the following relation:

$$\sum_{k=0}^{n} \binom{n}{k} \mathfrak{B}_{k} \left( \frac{(\mu-1)\nu \ln a}{\mu \ln c}; \lambda; a, b, c \right) \mu^{k-1} \nu^{n-k} S_{n-k}(\mu-1, \lambda) \left[ \ln \left( \frac{b}{a} \right) \right]^{n-k}$$

$$= \sum_{k=0}^{n} \binom{n}{k} \mathfrak{B}_{k} \left( \frac{(\nu-1)\mu \ln a}{\nu \ln c}; \lambda; a, b, c \right) \nu^{k-1} \mu^{n-k} S_{n-k}(\nu-1, \lambda) \left[ \ln \left( \frac{b}{a} \right) \right]^{n-k}.$$
(2.5)

Finally, substituting  $\lambda = 1$ , a = 1, b = c = e in (2.5), we find

$$\sum_{k=0}^{n} \binom{n}{k} \mu^{k-1} \nu^{n-k} B_k S_{n-k}(\mu-1) = \sum_{k=0}^{n} \binom{n}{k} \nu^{k-1} \mu^{n-k} B_k S_{n-k}(\nu-1)$$
(2.6)

a result given by Tuenter [18].

**Theorem 2.4.** For all integers  $\mu > 0$ ,  $\nu > 0$ ,  $\alpha \ge 1$ ,  $n \ge 0$ , for  $a, b, c \in \mathbb{R}^+$ ,  $(a \ne b)$  and for  $\lambda \in \mathbb{C}$ , we have the following identity:

$$\begin{split} \sum_{k=0}^{n} \binom{n}{k} \sum_{i=0}^{\nu-1} \sum_{j=0}^{\nu-1} \lambda^{i+j} \mu^{n-k} \nu^{k} \mathfrak{B}_{n-k}^{(\alpha)} \left( \nu x + \frac{i\nu \ln\left(\frac{b}{a}\right) + (2\mu\nu - \nu - \mu)\ln a}{\mu \ln c}; \lambda; a, b, c \right) \\ \times \mathfrak{B}_{k}^{(\alpha)} \left( \mu y + \frac{j\mu \ln\left(\frac{b}{a}\right)}{\nu \ln c}; \lambda; a, b, c \right) \\ = \sum_{k=0}^{n} \binom{n}{k} \sum_{i=0}^{\nu-1} \sum_{j=0}^{\mu-1} \nu^{n-k} \mu^{k} \mathfrak{B}_{n-k}^{(\alpha)} \left( \mu x + \frac{i\mu \ln\left(\frac{b}{a}\right) + (2\mu\nu - \nu - \mu)\ln a}{\nu \ln c}; \lambda; a, b, c \right) \\ \times \lambda^{i+j} \mathfrak{B}_{k}^{(\alpha)} \left( \nu y + \frac{j\nu \ln\left(\frac{b}{a}\right)}{\mu \ln c}; \lambda; a, b, c \right). \end{split}$$

$$(2.7)$$

80

*Proof.* Let the function h(t) be given by

$$h(t) = \frac{t^{2\alpha}c^{\mu\nu xt}(\lambda^{\mu}b^{\mu\nu t} - a^{\mu\nu t})(\lambda^{\nu}b^{\mu\nu t} - a^{\mu\nu t})c^{\mu\nu yt}}{(\lambda b^{\mu t} - a^{\mu t})^{\alpha+1}(\lambda b^{\nu t} - a^{\nu t})^{\alpha+1}},$$
(2.8)

which can be expanded as follows:

$$\begin{split} h(t) &= \frac{1}{(\mu\nu)^{\alpha}} \left( \frac{\mu t}{\lambda b^{\mu t} - a^{\mu t}} \right)^{\alpha} c^{\mu\nu xt} \left( \frac{\lambda^{\mu} b^{\mu\nu t} - a^{\mu\nu t}}{\lambda b^{\nu t} - a^{\nu t}} \right) \left( \frac{\nu t}{\lambda b^{\nu t} - a^{\nu t}} \right)^{\alpha} \\ &\times \left( \frac{\lambda^{\nu} b^{\mu\nu t} - a^{\mu\nu t}}{\lambda b^{\mu t} - a^{\mu t}} \right) c^{\mu\nu yt} \\ &= \frac{a^{2\mu\nu t - \nu t - \mu t}}{(\mu\nu)^{\alpha}} \left( \frac{\mu t}{\lambda b^{\mu t} - a^{\mu t}} \right)^{\alpha} c^{\mu\nu xt} \left( \frac{\lambda^{\mu} e^{\mu\nu t \ln\left(\frac{b}{a}\right)} - 1}{\lambda e^{\nu t \ln\left(\frac{b}{a}\right)} - 1} \right) \left( \frac{\nu t}{\lambda b^{\nu t} - a^{\nu t}} \right)^{\alpha} \\ &\times \left( \frac{\lambda^{\nu} e^{\nu\mu t \ln\left(\frac{b}{a}\right)} - 1}{\lambda e^{\mu\nu t \ln\left(\frac{b}{a}\right)} - 1} \right) c^{\mu\nu yt} \\ &= \frac{1}{(\mu\nu)^{\alpha}} c^{\frac{(2\mu\nu - \nu - \mu)t \ln a}{\ln c}} \left( \frac{\mu t}{\lambda b^{\mu t} - a^{\mu t}} \right)^{\alpha} c^{\mu\nu xt} \sum_{i=0}^{\mu - 1} \lambda^{i} e^{i\nu t \ln\left(\frac{b}{a}\right)} \\ &\times \left( \frac{\nu t}{\lambda b^{\nu t} - a^{\nu t}} \right)^{\alpha} \sum_{j=0}^{\nu - 1} \lambda^{j} e^{j\mu t \ln\left(\frac{b}{a}\right)} c^{\mu\nu yt} \\ &= \frac{1}{(\mu\nu)^{\alpha}} \sum_{i=0}^{\mu - 1} \lambda^{i} \left( \frac{\mu t}{\lambda b^{\mu t} - a^{\mu t}} \right)^{\alpha} c^{\mu\nu xt} + \frac{i\nu t \ln\left(\frac{b}{a}\right)}{\ln c} + \frac{(2\mu\nu - \nu - \mu)t \ln a}{\ln c} \\ &\times \sum_{j=0}^{\nu - 1} \lambda^{j} \left( \frac{\nu t}{\lambda b^{\nu t} - a^{\nu t}} \right)^{\alpha} c^{\mu\nu yt} + \frac{j\mu t \ln\left(\frac{b}{a}\right)}{\ln c} \\ &= \frac{1}{(\mu\nu)^{\alpha}} \sum_{i=0}^{\mu - 1} \lambda^{i} \sum_{n=0}^{\infty} \mathfrak{B}_{n}^{(\alpha)} \left( \nu x + \frac{i\nu \ln\left(\frac{b}{a}\right) + (2\mu\nu - \nu - \mu)\ln a}{\mu \ln c} ; \lambda; a, b, c \right) \frac{(\mu t)^{n}}{n!} \\ &\times \sum_{j=0}^{\nu - 1} \lambda^{j} \sum_{k=0}^{\infty} \mathfrak{B}_{k}^{(\alpha)} \left( \mu y + \frac{j\mu \ln\left(\frac{b}{a}\right)}{\nu \ln c} ; \lambda; a, b, c \right) \frac{(\nu t)^{k}}{k!} \\ &= \frac{1}{(\mu\nu)^{\alpha}} \sum_{n=0}^{\infty} \left[ \sum_{k=0}^{n} \binom{n}{k} \sum_{i=0}^{\mu - 1} \sum_{j=0}^{\nu - 1} \lambda^{i+j} \mu^{n-k} \nu^{k} \mathfrak{B}_{k}^{(\alpha)} \left( \mu y + \frac{j\mu \ln\left(\frac{b}{a}\right)}{\nu \ln c} ; \lambda; a, b, c \right) \right] \frac{t^{n}}{n!}. \end{split}$$

Since h(t) is symmetric in  $\mu$  and  $\nu$ , we can also expand h(t) as follows:

$$h(t) = \frac{1}{(\mu\nu)^{\alpha}} \sum_{n=0}^{\infty} \left[ \sum_{k=0}^{n} \binom{n}{k} \sum_{i=0}^{\nu-1} \sum_{j=0}^{\mu-1} \lambda^{i+j} \nu^{n-k} \mu^{k} \mathfrak{B}_{k}^{(\alpha)} \left( \nu y + \frac{j\nu \ln\left(\frac{b}{a}\right)}{\mu \ln c}; \lambda; a, b, c \right) \right] \times \mathfrak{B}_{n-k}^{(\alpha)} \left( \mu x + \frac{i\mu \ln\left(\frac{b}{a}\right) + (2\mu\nu - \nu - \mu) \ln a}{\nu \ln c}; \lambda; a, b, c \right) \right] \frac{t^{n}}{n!}.$$

$$(2.10)$$

By equating the coefficient of  $\frac{t^n}{n!}$  on the right-hand sides of these last two (2.9) and (2.10), we get the identity (2.7).

Setting a = 1, b = c = e in Theorem 2 yields a result given recently by Zhang and Yang [23, Eq. 18] :

**Corollary 2.5.** For all integers  $\mu > 0$ ,  $\nu > 0$ ,  $\alpha \ge 1$ ,  $n \ge 0$  and for  $\lambda \in \mathbb{C}$ , we have

$$\sum_{k=0}^{n} \binom{n}{k} \sum_{i=0}^{\nu-1} \sum_{j=0}^{\nu-1} \lambda^{i+j} \mu^{n-k} \nu^{k} \mathfrak{B}_{n-k}^{(\alpha)} \left(\nu x + \frac{i\nu}{\mu}; \lambda\right) \mathfrak{B}_{k}^{(\alpha)} \left(\mu y + \frac{j\mu}{\nu}; \lambda\right)$$

$$= \sum_{k=0}^{n} \binom{n}{k} \sum_{i=0}^{\nu-1} \sum_{j=0}^{\mu-1} \lambda^{i+j} \nu^{n-k} \mu^{k} \mathfrak{B}_{n-k}^{(\alpha)} \left(\mu x + \frac{i\mu}{\nu}; \lambda\right) \mathfrak{B}_{k}^{(\alpha)} \left(\nu y + \frac{j\nu}{\mu}; \lambda\right).$$

$$(2.11)$$

Putting  $\nu = 1$  and y = 0 in Theorem 2 gives the next corollary:

**Corollary 2.6.** For all integers  $\mu > 0$ ,  $\alpha \ge 1$ ,  $n \ge 0$ , for  $a, b, c \in \mathbb{R}^+$ ,  $(a \ne b)$  and for  $\lambda \in \mathbb{C}$ , we have the following identity:

$$\sum_{k=0}^{n} \binom{n}{k} \sum_{i=0}^{\mu-1} \lambda^{i} \mu^{n-k} \mathfrak{B}_{n-k}^{(\alpha)} \left( x + \frac{i \ln \left(\frac{b}{a}\right) + (\mu-1) \ln a}{\mu \ln c}; \lambda; a, b, c \right) \mathfrak{B}_{k}^{(\alpha)} \left( 0; \lambda; a, b, c \right)$$
$$= \sum_{k=0}^{n} \binom{n}{k} \sum_{j=0}^{\mu-1} \lambda^{j} \mu^{k} \mathfrak{B}_{n-k}^{(\alpha)} \left( \mu x + \frac{(\mu-1) \ln a}{\nu \ln c}; \lambda; a, b, c \right) \mathfrak{B}_{k}^{(\alpha)} \left( \frac{j \ln \left(\frac{b}{a}\right)}{\mu \ln c}; \lambda; a, b, c \right).$$
(2.12)

**Theorem 2.7.** For all integers  $\mu > 0$ ,  $\nu > 0$ ,  $\alpha \ge 1$ ,  $n \ge 0$ , for  $a, b, c \in \mathbb{R}^+$ ,  $(a \ne b)$  and for  $\lambda \in \mathbb{C}$ , we have the following identity:

$$\begin{split} &\sum_{k=0}^{n} \binom{n}{k} \sum_{i=0}^{\nu-1} \sum_{j=0}^{\nu-1} \lambda^{i+j} \mu^{n-k} \nu^{k} \mathfrak{B}_{k}^{(\alpha)}(\mu y; \lambda; a, b, c) \\ &\times \mathfrak{B}_{n-k}^{(\alpha)} \left( \nu x + \frac{i\nu \ln\left(\frac{b}{a}\right) + (2\mu\nu - \nu - \mu)\ln a + j\mu \ln\left(\frac{b}{a}\right)}{\mu \ln c}; \lambda; a, b, c \right) \\ &= \sum_{k=0}^{n} \binom{n}{k} \sum_{i=0}^{\nu-1} \sum_{j=0}^{\mu-1} \lambda^{i+j} \nu^{n-k} \mu^{k} \mathfrak{B}_{k}^{(\alpha)}(\nu y; \lambda; a, b, c) \\ &\times \mathfrak{B}_{n-k}^{(\alpha)} \left( \mu x + \frac{i\mu \ln\left(\frac{b}{a}\right) + (2\mu\nu - \nu - \mu)\ln a + j\nu \ln\left(\frac{b}{a}\right)}{\nu \ln c}; \lambda; a, b, c \right). \end{split}$$
(2.13)

*Proof.* The proof of Theorem 3 is similar to that of Theorems 1 and 2. In the proof of Theorem 3, we first make use of (1.7) in order to expand the function h(t) defined by (2.8) and then apply the symmetry of h(t) in  $\mu$  and  $\nu$  to obtain a second expansion of h(t). The details involved are straightforward and we leave them as an exercise.

If we set a = 1, b = c = e in Theorem 3, we recover a result given recently by Zhang and Yang [23, Eq. 23] :

**Corollary 2.8.** For all integers  $\mu > 0$ ,  $\nu > 0$ ,  $\alpha \ge 1$ ,  $n \ge 0$  and for  $\lambda \in \mathbb{C}$ , we have

$$\sum_{k=0}^{n} \binom{n}{k} \sum_{i=0}^{\nu-1} \sum_{j=0}^{\nu-1} \lambda^{i+j} \mu^{n-k} \nu^{k} \mathfrak{B}_{n-k}^{(\alpha)} \left(\nu x + \frac{\nu}{\mu} i + j; \lambda\right) \mathfrak{B}_{k}^{(\alpha)} (\mu y; \lambda)$$

$$= \sum_{k=0}^{n} \binom{n}{k} \sum_{i=0}^{\nu-1} \sum_{j=0}^{\mu-1} \lambda^{i+j} \nu^{n-k} \mu^{k} \mathfrak{B}_{n-k}^{(\alpha)} \left(\mu x + \frac{\mu}{\nu} i + j; \lambda\right) \mathfrak{B}_{k}^{(\alpha)} (\nu y; \lambda).$$
(2.14)

Putting  $\nu = 1$  and y = 0 in Theorem 3 gives the next corollary:

**Corollary 2.9.** For all integers  $\mu > 0$ ,  $\alpha \ge 1$ ,  $n \ge 0$ , for  $a, b, c \in \mathbb{R}^+$ ,  $(a \ne b)$  and for  $\lambda \in \mathbb{C}$ , we have the following identity:

$$\sum_{k=0}^{n} \binom{n}{k} \sum_{i=0}^{\mu-1} \lambda^{i} \mu^{n-k} \mathfrak{B}_{n-k}^{(\alpha)} \left( x + \frac{i \ln \left(\frac{b}{a}\right) + (\mu-1) \ln a}{\mu \ln c}; \lambda; a, b, c \right) \mathfrak{B}_{k}^{(\alpha)} \left( 0; \lambda; a, b, c \right)$$
$$= \sum_{k=0}^{n} \binom{n}{k} \sum_{j=0}^{\mu-1} \lambda^{j} \mu^{k} \mathfrak{B}_{n-k}^{(\alpha)} \left( \mu x + \frac{(\mu-1) \ln a + j \ln \left(\frac{b}{a}\right)}{\ln c}; \lambda; a, b, c \right) \mathfrak{B}_{k}^{(\alpha)} \left( 0; \lambda; a, b, c \right).$$
(2.15)

### 3. Some identities related to generalized Apostol-Euler polynomials

In this section, we derive some identities concerning the generalized Apostol-Euler polynomials  $\mathfrak{E}_n^{(\alpha)}(x;\lambda;a,b,c)$  defined by (1.8), the generalized alternating sum (1.16) and the analogues of the expansions of hyperbolic cotangent and hyperbolic tangent introduced in [20]. These results extend some known formulas [6, 7, 21]. We conclude this section by giving some identities based on relationships between the generalized Apostol-Euler polynomials  $\mathfrak{E}_n^{(\alpha)}(x;\lambda;a,b,c)$  and the generalized Apostol-Bernoulli polynomials  $\mathfrak{B}_n^{(\alpha)}(x;\lambda;a,b,c)$  and between the generalized Apostol-Bernoulli polynomials  $\mathfrak{B}_n^{(\alpha)}(x;\lambda;a,b,c)$  and the generalized Apostol-Genocchi polynomials  $\mathfrak{G}_n^{(\alpha)}(x;\lambda;a,b,c)$  defined by (1.9).

**Theorem 3.1.** For  $n \in \mathbb{N}_0$ ,  $\mu, \nu \in \mathbb{N}$ ,  $\alpha \ge 1$ ,  $a, b, c \in \mathbb{R}^+$ ,  $(a \ne b)$  and for  $\lambda \in \mathbb{C}$ . If  $\mu$  and  $\nu$  have the same parity, then the following identity holds true:

$$\sum_{k=0}^{n} \binom{n}{k} \mu^{n-k} \nu^{k} \left( \ln \left( \frac{b}{a} \right) \right)^{k} \mathfrak{E}_{n-k}^{(\alpha)} \left( \nu x - \frac{\alpha \nu \ln a}{\mu \ln c}; \ \lambda; a, b, c \right) \ T_{k}^{(\alpha)}(\mu; \lambda)$$

$$= \sum_{k=0}^{n} \binom{n}{k} \nu^{n-k} \mu^{k} \left( \ln \left( \frac{b}{a} \right) \right)^{k} \mathfrak{E}_{n-k}^{(\alpha)} \left( \mu x - \frac{\alpha \mu \ln a}{\nu \ln c}; \ \lambda; a, b, c \right) \ T_{k}^{(\alpha)}(\nu; \lambda).$$
(3.1)

*Proof.* Let the function g(t) be given by

$$g(t) = \frac{c^{\mu\nu xt} \left(1 - \lambda(-1)^{\mu} \mathrm{e}^{\mu\nu t \ln\left(\frac{b}{a}\right)}\right)^{\alpha}}{\left(\lambda b^{\mu t} + a^{\mu t}\right)^{\alpha} \left(\lambda b^{\nu t} + a^{\nu t}\right)^{\alpha}}$$
(3.2)

Making use of (1.8) and (1.16) to expand g(t) to obtain first:

$$g(t) = \frac{1}{2^{\alpha}} c^{\frac{-\alpha\nu t \ln a}{\ln c}} \left(\frac{2}{\lambda b^{\mu t} + a^{\mu t}}\right)^{\alpha} c^{\nu x \mu t} \left(\frac{1 - \lambda(-1)^{\mu} \mathrm{e}^{\mu\nu t \ln\left(\frac{b}{a}\right)}}{\lambda \mathrm{e}^{\nu t \ln\left(\frac{b}{a}\right)} + 1}\right)^{\alpha}$$

$$= \frac{1}{2^{\alpha}} \sum_{n=0}^{\infty} \mathfrak{E}_{n}^{(\alpha)} \left(\nu x - \frac{\alpha\nu \ln a}{\mu \ln c}; \ \lambda; a, b, c\right) \frac{(\mu t)^{n}}{n!} \sum_{k=0}^{\infty} T_{k}^{(\alpha)}(\mu; \lambda) \frac{(\nu t \ln\left(\frac{b}{a}\right))^{k}}{k!}$$

$$= \frac{1}{2^{\alpha}} \sum_{n=0}^{\infty} \sum_{k=0}^{n} \binom{n}{k} \mu^{n-k} \nu^{k} \left(\ln\left(\frac{b}{a}\right)\right)^{k} \mathfrak{E}_{n-k}^{(\alpha)} \left(\nu x - \frac{\alpha\nu \ln a}{\mu \ln c}; \lambda; a, b, c\right) T_{k}^{(\alpha)}(\mu; \lambda) \frac{t^{n}}{n!}.$$
(3.3)

Now, since  $\mu$  and  $\nu$  have the same parity, then the function g(t) is symmetric in  $\mu$  and  $\nu$ . Therefore, we can expand g(t) as follows:

$$g(t) = \frac{1}{2^{\alpha}} \sum_{n=0}^{\infty} \sum_{k=0}^{n} \binom{n}{k} \nu^{n-k} \mu^{k} \left( \ln\left(\frac{b}{a}\right) \right)^{k} \mathfrak{E}_{n-k}^{(\alpha)} \left( \mu x - \frac{\alpha \mu \ln a}{\nu \ln c}; \lambda; a, b, c \right) T_{k}^{(\alpha)}(\nu; \lambda) \frac{t^{n}}{n!}.$$
(3.4)

By equating the coefficient of  $\frac{t^n}{n!}$  on the right-hand side of the last two equations (3.3) and (3.4), we thus recover the identity (3.1) asserted by Theorem 4.

As a special case, if we set a = 1, b = c = e in Theorem 4, we obtain the following corollary given recently by Lu and Srivastava in [7, Eq. 30].

**Corollary 3.2.** For  $n \in \mathbb{N}_0$ ,  $\mu, \nu \in \mathbb{N}$ ,  $\alpha \ge 1$  and for  $\lambda \in \mathbb{C}$ . If  $\mu$  and  $\nu$  have the same parity, then the following identity holds true:

$$\sum_{k=0}^{n} \binom{n}{k} \mu^{n-k} \nu^{k} \mathfrak{E}_{n-k}^{(\alpha)}(\nu x ; \lambda) \ T_{k}^{(\alpha)}(\mu; \lambda) = \sum_{k=0}^{n} \binom{n}{k} \nu^{n-k} \mu^{k} \mathfrak{E}_{n-k}^{(\alpha)}(\mu x; \lambda) \ T_{k}^{(\alpha)}(\nu; \lambda).$$
(3.5)

Now, letting  $\alpha = \lambda = 1$ , we recover the result given by Yang and Qiao in [21, Eq. 18]:

**Corollary 3.3.** For  $n \in \mathbb{N}_0$  and  $\mu, \nu \in \mathbb{N}$ . If  $\mu$  and  $\nu$  have the same parity, then we have

$$\sum_{k=0}^{n} \binom{n}{k} \mu^{n-k} \nu^{k} E_{n-k}(\nu x) \ T_{k}(\mu) = \sum_{k=0}^{n} \binom{n}{k} \nu^{n-k} \mu^{k} E_{n-k}(\mu x) \ T_{k}(\nu).$$
(3.6)

**Theorem 3.4.** For  $n \in \mathbb{N}_0$ ,  $\mu, \nu \in \mathbb{N}$ ,  $\alpha \ge 1$ ,  $a, b, c \in \mathbb{R}^+$ ,  $(a \ne b)$  and for  $\lambda \in \mathbb{C}$ . If  $\mu$  and  $\nu$  have the same parity, then the following identity holds true:

$$\sum_{k=0}^{n} \binom{n}{k} \sum_{i=0}^{\nu-1} \sum_{j=0}^{\nu-1} (-\lambda)^{i+j} \mu^{n-k} \nu^{k} \mathfrak{E}_{n-k}^{(\alpha)} \left( \nu x + \frac{(i\nu+j\mu)\ln\left(\frac{b}{a}\right) - (\mu+\nu)\ln a}{\mu\ln c}; \lambda; a, b, c \right) \\ \times \mathfrak{E}_{k}^{(\alpha)}(\mu y; \lambda; a, b, c) \\ = \sum_{k=0}^{n} \binom{n}{k} \sum_{i=0}^{\nu-1} \sum_{j=0}^{\mu-1} (-\lambda)^{i+j} \nu^{n-k} \mu^{k} \mathfrak{E}_{n-k}^{(\alpha)} \left( \mu x + \frac{(i\mu+j\nu)\ln\left(\frac{b}{a}\right) - (\mu+\nu)\ln a}{\nu\ln c}; \lambda; a, b, c \right) \\ \times \mathfrak{E}_{k}^{(\alpha)}(\nu y; \lambda; a, b, c).$$

$$(3.7)$$

*Proof.* Let the function g(t) be given by

$$g(t) = \frac{\mathrm{c}^{\mu\nu xt} \mathrm{c}^{\mu\nu yt} \left[ 1 - \left( -\lambda \left( \frac{b}{a} \right)^{\nu t} \right)^{\mu} \right] \left[ 1 - \left( -\lambda \left( \frac{b}{a} \right)^{\mu t} \right)^{\nu} \right]}{\left( \lambda b^{\mu t} + a^{\mu t} \right)^{\alpha + 1} \left( \lambda b^{\nu t} + a^{\nu t} \right)^{\alpha + 1}}$$
(3.8)

which can be expanded, with the help of (1.8), as follows:

$$\begin{split} g(t) &= \frac{1}{2^{2\alpha}} \left( \frac{2}{\lambda b^{\mu t} + a^{\mu t}} \right)^{\alpha} c^{\mu\nu xt} \frac{1}{a^{\nu t}} \left( \frac{1 - \left( -\lambda \left( \frac{b}{a} \right)^{\nu t} \right)^{\mu}}{\lambda \left( \frac{b}{a} \right)^{\mu t} + 1} \right) \\ &\times \frac{1}{a^{\mu t}} \left( \frac{1 - \left( -\lambda \left( \frac{b}{a} \right)^{\mu t} \right)^{\nu}}{\lambda \left( \frac{b}{a} \right)^{\mu t} + 1} \right) \left( \frac{2}{\lambda b^{\nu t} + a^{\nu t}} \right)^{\alpha} c^{\mu\nu yt} \\ &= \frac{a^{-(\mu+\nu)t}}{2^{2\alpha}} \left( \frac{2}{\lambda b^{\mu t} + a^{\mu t}} \right)^{\alpha} c^{\mu\nu xt} \left( \sum_{i=0}^{\mu-1} (-\lambda)^{i} \left( \frac{b}{a} \right)^{i\nu t} \right) \\ &\times \left( \sum_{j=0}^{\nu-1} (-\lambda)^{j} \left( \frac{b}{a} \right)^{j\mu t} \right) \left( \frac{2}{\lambda b^{\nu t} + a^{\nu t}} \right)^{\alpha} c^{\mu\nu yt} \\ &= \frac{1}{2^{2\alpha}} \sum_{i=0}^{\mu-1} \sum_{j=0}^{\nu-1} (\lambda)^{i+j} \left( \frac{2}{\lambda b^{\mu t} + a^{\mu t}} \right)^{\alpha} c^{\mu\nu xt} + \frac{i\nu t \ln \left( \frac{b}{a} \right)}{\ln c} + \frac{j\mu t \ln \left( \frac{b}{a} \right)}{\ln c} - \frac{(\mu+\nu) t \ln a}{\ln c} \\ &\times \left( \frac{2}{\lambda b^{\nu t} + a^{\nu t}} \right)^{\alpha} c^{\mu\nu yt} \\ &= \frac{1}{2^{2\alpha}} \sum_{i=0}^{\mu-1} \sum_{j=0}^{\nu-1} (\lambda)^{i+j} \sum_{n=0}^{\infty} \mathfrak{E}_{n}^{(\alpha)} \left( \nu x + \frac{(i\nu+\mu j) \ln \left( \frac{b}{a} \right) - (\mu+\nu) \ln a}{\mu \ln c}; \lambda; a, b, c \right) \frac{(\mu t)^{n}}{n!} \\ &\times \sum_{k=0}^{\infty} \mathfrak{E}_{k}^{(\alpha)}(\mu y; \lambda; a, b, c) \frac{(\nu t)^{k}}{k!} \\ &= \frac{1}{2^{2\alpha}} \sum_{n=0}^{\infty} \left[ \sum_{k=0}^{n} {n \choose k} \sum_{i=0}^{\nu-1} \sum_{j=0}^{\nu-1} (-\lambda)^{i+j} \mu^{n-k} \nu^{k} \mathfrak{E}_{k}^{(\alpha)}(\mu y; \lambda; a, b, c) \\ &\times \mathfrak{E}_{n-k}^{(\alpha)} \left( \nu x + \frac{(i\nu+\mu j) \ln \left( \frac{b}{a} \right) - (\mu+\nu) \ln a}{\mu \ln c}; \lambda; a, b, c \right) \right] \frac{t^{n}}{n!}. \end{split}$$

Using the fact that g(t) is symmetric since  $\mu$  and  $\nu$  have the same parity, we can also expand g(t) in the following the way:

$$g(t) = \frac{1}{2^{2\alpha}} \sum_{n=0}^{\infty} \left[ \sum_{k=0}^{n} \binom{n}{k} \sum_{i=0}^{\nu-1} \sum_{j=0}^{\mu-1} (-\lambda)^{i+j} \nu^{n-k} \mu^{k} \mathfrak{E}_{k}^{(\alpha)}(\nu y; \lambda; a, b, c) \right] \times \mathfrak{E}_{n-k}^{(\alpha)} \left( \mu x + \frac{(i\mu + \nu j) \ln\left(\frac{b}{a}\right) - (\mu + \nu) \ln a}{\nu \ln c}; \lambda; a, b, c \right) \right] \frac{t^{n}}{n!}.$$
(3.9)

Equating coefficients of  $\frac{t^n}{n!}$  in the right-hand side of the last two equations gives the identity of the Theorem 5.

Letting a = 1, b = c = e in Theorem 5, we find the following corollary given recently by Lu and Srivastava in [7, Eq. 43].

**Corollary 3.5.** For  $n \in \mathbb{N}_0$ ,  $\mu, \nu \in \mathbb{N}$ ,  $\alpha \ge 1$  and for  $\lambda \in \mathbb{C}$ . If  $\mu$  and  $\nu$  have the same parity, then the following identity holds true:

$$\sum_{k=0}^{n} \binom{n}{k} \sum_{i=0}^{\mu-1} \sum_{j=0}^{\nu-1} (-\lambda)^{i+j} \mu^{n-k} \nu^{k} \mathfrak{E}_{n-k}^{(\alpha)} \left(\nu x + \frac{\nu}{\mu} i + j; \lambda\right) \mathfrak{E}_{k}^{(\alpha)}(\mu y; \lambda)$$

$$= \sum_{k=0}^{n} \binom{n}{k} \sum_{i=0}^{\nu-1} \sum_{j=0}^{\mu-1} (-\lambda)^{i+j} \nu^{n-k} \mu^{k} \mathfrak{E}_{n-k}^{(\alpha)} \left(\mu x + \frac{\mu}{\nu} i + j; \lambda\right) \mathfrak{E}_{k}^{(\alpha)}(\nu y; \lambda).$$
(3.10)

According to [20], we have the following analogues of the expansions of hyperbolic cotangent and hyperbolic tangent, respectively:

$$\frac{\lambda e^{2z} + 1}{\lambda e^{2z} - 1} = \sum_{n=0}^{\infty} \frac{\mathfrak{B}_n(0;\lambda) + \lambda \mathfrak{B}_n(1;\lambda)}{n!} (2z)^{n-1}, \qquad (3.11)$$

$$\frac{\lambda e^{2z} - 1}{\lambda e^{2z} + 1} = -\sum_{n=0}^{\infty} \mathfrak{E}_n(0;\lambda) \frac{(2z)^n}{n!} + 1.$$
(3.12)

From (3.11), we can obtain the following theorem.

**Theorem 3.6.** For  $n \in \mathbb{N}_0$ ,  $\mu, \nu \in \mathbb{N}$ ,  $\alpha \ge 1$ ,  $a, b, c \in \mathbb{R}^+$ ,  $(a \ne b)$  and for  $\lambda \in \mathbb{C}$ . Let  $\delta_{i,j}$  denotes the Kronecker delta defined by  $\delta_{i,i} = 1$  and  $\delta_{i,j} = 0$  for  $i \ne j$ . If  $\mu$  is odd and  $\nu$  is even then the following identity holds true:

$$-\sum_{k=0}^{n+1} \binom{n+1}{k} \frac{[\delta_{n+1-k,1}+2\mathfrak{B}_{n+1-k}(0;\lambda)]}{n+1} \mu^{n-k} \sum_{i=0}^{k} \binom{k}{i} \mu^{i} \nu^{n-i}$$

$$\times \mathfrak{E}_{k-i}^{(\alpha)} \left(\mu x - \frac{\mu \ln a}{\nu \ln c}; \lambda; a, b, c\right) \sum_{j=0}^{i} \binom{i}{j} \left[\ln \left(\frac{b}{a}\right)\right]^{n-k+i-j} T_{i-j}^{(1)}(\nu;\lambda) \mathfrak{E}_{j}^{(\alpha-1)}(\nu y; \lambda; a, b, c)$$

$$= \sum_{k=0}^{n} \binom{n}{k} \mu^{n-k} \nu^{k} \mathfrak{E}_{n-k}^{(\alpha)} \left(\nu x - \frac{\nu \ln a}{\mu \ln c}; \lambda; a, b, c\right) \sum_{i=0}^{k} \binom{k}{i} \left[\ln \left(\frac{b}{a}\right)\right]^{k-i} T_{k-i}^{(1)}(\mu; \lambda)$$

$$\times \mathfrak{E}_{i}^{(\alpha-1)}(\mu y; \lambda; a, b, c).$$
(3.13)

*Proof.* When  $\mu$  is odd and  $\nu$  is even, the function g(t), given below, is not symmetric in  $\mu$  and  $\nu$ , so we have on the one hand

$$\begin{split} g(t) &= \frac{1}{2^{2\alpha-1}} \left( \frac{2}{\lambda b^{\nu t} + a^{\nu t}} \right)^{\alpha} c^{\mu\nu xt} \left( \frac{1 - \lambda(-1)^{\nu} \mathrm{e}^{\mu\nu t \ln\left(\frac{b}{a}\right)}}{\lambda b^{\mu t} + a^{\mu t}} \right) \left( \frac{1 - \lambda(-1)^{\mu} \mathrm{e}^{\mu\nu t \ln\left(\frac{b}{a}\right)}}{1 - \lambda(-1)^{\nu} \mathrm{e}^{\mu\nu t \ln\left(\frac{b}{a}\right)}} \right) \\ &\times \left( \frac{2}{\lambda b^{\mu t} + a^{\mu t}} \right)^{\alpha-1} c^{\mu\nu yt} \\ &= \frac{1}{2^{2\alpha-1}} \left( \frac{1 - \lambda(-1)^{\mu} \mathrm{e}^{\mu\nu t \ln\left(\frac{b}{a}\right)}}{1 - \lambda(-1)^{\nu} \mathrm{e}^{\mu\nu t \ln\left(\frac{b}{a}\right)}} \right) \left( \frac{2}{\lambda b^{\nu t} + a^{\nu t}} \right)^{\alpha} c^{\mu\nu xt} - \frac{\mu t \ln a}{\ln c} \\ &\times \left( \frac{1 - \lambda(-1)^{\nu} \mathrm{e}^{\mu\nu t \ln\left(\frac{b}{a}\right)}}{\lambda \mathrm{e}^{\mu t \ln\left(\frac{b}{a}\right)} + 1} \right) \left( \frac{2}{\lambda b^{\mu t} + a^{\mu t}} \right)^{\alpha-1} c^{\mu\nu yt} \\ &= \frac{-1}{2^{2\alpha-1}} \left( \sum_{n=0}^{\infty} \frac{\mathfrak{B}_{n}(0;\lambda) + \lambda \mathfrak{B}_{n}(1;\lambda)}{n!} \left( \mu\nu t \ln\left(\frac{b}{a}\right) \right)^{n-1} \right) \\ &\times \left( \sum_{k=0}^{\infty} \mathfrak{E}_{k}^{(\alpha)} \left( \mu x - \frac{\mu \ln a}{\nu \ln c}; \ \lambda; a, b, c \right) \frac{(\nu t)^{k}}{k!} \right) \end{split}$$

86

$$\times \left(\sum_{i=0}^{\infty} T_i^{(1)}(\nu;\lambda) \frac{\left(\mu t \ln\left(\frac{b}{a}\right)\right)^i}{i!}\right) \left(\sum_{j=0}^{\infty} \mathfrak{E}_j^{(\alpha-1)}(\nu y;\lambda;a,b,c) \frac{(\mu t)^j}{j!}\right)$$

$$= \frac{-1}{2^{2\alpha-1}} \sum_{n=0}^{\infty} \left[\sum_{k=0}^n \binom{n}{k} \left[\mathfrak{B}_{n-k}(0;\lambda) + \lambda \mathfrak{B}_{n-k}(1;\lambda)\right] \mu^{n-1-k} \right]$$

$$\times \sum_{i=0}^k \binom{k}{i!} \mu^i \nu^{n-1-i} \mathfrak{E}_{k-i}^{(\alpha)} \left(\mu x - \frac{\mu \ln a}{\nu \ln c};\lambda;a,b,c\right)$$

$$\times \sum_{j=0}^i \binom{i}{j!} \left[\ln\left(\frac{b}{a}\right)\right]^{n-1-k+i-j} T_{i-j}^{(1)}(\nu;\lambda) \mathfrak{E}_j^{(\alpha-1)}(\nu y;\lambda;a,b,c) \frac{t^{n-1}}{n!}.$$

$$(3.14)$$

On the other other hand, we can also expand g(t) as follows:

$$\begin{split} g(t) &= \frac{1}{2^{2\alpha-1}} \left( \frac{2}{\lambda b^{\mu t} + a^{\mu t}} \right)^{\alpha} c \,^{\mu\nu xt} \left( \frac{1 - \lambda(-1)^{\mu} e^{\mu\nu t \ln\left(\frac{b}{a}\right)}}{\lambda b^{\nu t} + a^{\nu t}} \right) \\ &\times \left( \frac{2}{\lambda b^{\nu t} + a^{\nu t}} \right)^{\alpha-1} c \,^{\mu\nu yt} \\ &= \frac{1}{2^{2\alpha-1}} \left( \frac{2}{\lambda b^{\mu t} + a^{\mu t}} \right)^{\alpha} c \,^{\mu\nu xt} - \frac{\nu t \ln a}{\ln c} \left( \frac{1 - \lambda(-1)^{\mu} e^{\mu\nu t \ln\left(\frac{b}{a}\right)}}{1 + \lambda e^{\nu t \ln\left(\frac{b}{a}\right)}} \right) \\ &\times \left( \frac{2}{\lambda b^{\nu t} + a^{\nu t}} \right)^{\alpha-1} c \,^{\mu\nu yt} \\ &= \frac{1}{2^{2\alpha-1}} \left( \sum_{n=0}^{\infty} \mathfrak{E}_{n}^{(\alpha)} \left( \nu x - \frac{\nu \ln a}{\mu \ln c}; \,\lambda; a, b, c \right) \frac{(\mu t)^{n}}{n!} \right) \left( \sum_{k=0}^{\infty} T_{k}^{(1)}(\mu; \lambda) \frac{\left[ \nu t \ln\left(\frac{b}{a}\right) \right]^{k}}{k!} \right) \\ &\times \left( \sum_{i=0}^{\infty} \mathfrak{E}_{i}^{(\alpha-1)}(\mu y; \,\lambda; a, b, c) \frac{(\nu t)^{i}}{i!} \right) \\ &= \frac{1}{2^{2\alpha-1}} \sum_{n=0}^{\infty} \left[ \sum_{k=0}^{n} \binom{n}{k} \mu^{n-k} \nu^{k} \mathfrak{E}_{n-k}^{(\alpha)} \left( \nu x - \frac{\nu \ln a}{\mu \ln c}; \,\lambda; a, b, c \right) \right] \frac{t^{n}}{n!}. \end{split}$$

Since  $\lambda \mathfrak{B}_n(x+1;\lambda) - \mathfrak{B}_n(x;\lambda) = nx^{n-1}$  (see [14]) then

$$\mathfrak{B}_n(0;\lambda) + \lambda \mathfrak{B}_n(1;\lambda) = \delta_{n,1} + 2\mathfrak{B}_n(0;\lambda). \tag{3.15}$$

Making use of this last relation (3.15) involving the Apostol-Bernoulli polynomials and numbers and equating the coefficients of  $\frac{t^n}{n!}$  in (3.14) and (3.15), we obtain (3.13).

Substituting a = 1, b = c = e in Theorem 6 furnishes the following corollary.

**Corollary 3.7.** For  $n \in \mathbb{N}_0$ ,  $\mu, \nu \in \mathbb{N}$ ,  $\alpha \geq 1$  and for  $\lambda \in \mathbb{C}$ . Let  $\delta_{i,j}$  denotes the Kronecker delta defined by  $\delta_{i,i} = 1$  and  $\delta_{i,j} = 0$  for  $i \neq j$ . If  $\mu$  is odd and  $\nu$  is even then the following identity holds true:

$$\begin{split} &-\sum_{k=0}^{n+1} \binom{n+1}{k} \frac{[\delta_{n+1-k,1}+2\mathfrak{B}_{n+1-k}(0;\lambda)]}{n+1} \mu^{n-k} \sum_{i=0}^{k} \binom{k}{i} \mu^{i} \nu^{n-i} \mathfrak{E}_{k-i}^{(\alpha)}(\mu x;\lambda) \\ &\times \sum_{j=0}^{i} \binom{i}{j} T_{i-j}^{(1)}(\nu;\lambda) \mathfrak{E}_{j}^{(\alpha-1)}(\nu y;\lambda) \end{split}$$

$$=\sum_{k=0}^{n} \binom{n}{k} \mu^{n-k} \nu^{k} \mathfrak{E}_{n-k}^{(\alpha)}(\nu x; \lambda) \sum_{i=0}^{k} \binom{k}{i} T_{k-i}^{(1)}(\mu; \lambda) \mathfrak{E}_{i}^{(\alpha-1)}(\mu y; \lambda).$$
(3.16)

Letting  $\lambda = 1$  in (3.16), we get the result obtained by Liu and Wang in [6, Theorem 2.4].

**Corollary 3.8.** For  $n \in \mathbb{N}_0$ ,  $\mu, \nu \in \mathbb{N}$ ,  $\alpha \ge 1$ . If  $\mu$  is odd and  $\nu$  is even then the following identity holds true:

$$-2\sum_{\substack{k=0\\k\neq n}}^{n+1} \binom{n+1}{k} \frac{B_{n+1-k}(0)}{n+1} \mu^{n-k} \sum_{i=0}^{k} \binom{k}{i} \mu^{i} \nu^{n-i} E_{k-i}^{(\alpha)}(\mu x) \sum_{j=0}^{i} \binom{i}{j} T_{i-j}^{(1)}(\nu) E_{j}^{(\alpha-1)}(\nu y)$$
$$= \sum_{k=0}^{n} \binom{n}{k} \mu^{n-k} \nu^{k} E_{n-k}^{(\alpha)}(\nu x) \sum_{i=0}^{k} \binom{k}{i} T_{k-i}^{(1)}(\mu) E_{i}^{(\alpha-1)}(\mu y).$$
(3.17)

We can proceed similarly to Theorem 3.6, but using this time (3.12) to establish the next result.

**Theorem 3.9.** For  $n \ge 1$ ,  $\mu, \nu \in \mathbb{N}$ ,  $\alpha \ge 1$ ,  $a, b, c \in \mathbb{R}^+$ ,  $(a \ne b)$  and for  $\lambda \in \mathbb{C}$ . If  $\mu$  is even and  $\nu$  is odd then the following identity holds true:

$$\sum_{k=0}^{n} \binom{n}{k} \mathfrak{E}_{n-k}(0;\lambda) \mu^{n-k} \sum_{i=0}^{k} \binom{k}{i} \mu^{i} \nu^{n-i} \mathfrak{E}_{k-i}^{(\alpha)} \left(\mu x - \frac{\mu \ln a}{\nu \ln c};\lambda;a,b,c\right)$$

$$\times \sum_{j=0}^{i} \binom{i}{j} \left[\ln\left(\frac{b}{a}\right)\right]^{n-k+i-j} T_{i-j}^{(1)}(\nu;\lambda) \mathfrak{E}_{j}^{(\alpha-1)}(\nu y;\lambda;a,b,c)$$

$$- \sum_{k=0}^{n} \binom{n}{k} \nu^{n-k} \mu^{k} \mathfrak{E}_{n-k}^{(\alpha)} \left(\mu x - \frac{\mu \ln a}{\nu \ln c};\lambda;a,b,c\right)$$

$$\times \sum_{i=0}^{k} \binom{k}{i} \left[\ln\left(\frac{b}{a}\right)\right]^{k-i} T_{k-i}^{(1)}(\nu;\lambda) \mathfrak{E}_{i}^{(\alpha-1)}(\nu y;\lambda;a,b,c)$$

$$= \sum_{k=0}^{n} \binom{n}{k} \mu^{n-k} \nu^{k} \mathfrak{E}_{n-k}^{(\alpha)} \left(\nu x - \frac{\nu \ln a}{\mu \ln c};\lambda;a,b,c\right)$$

$$\times \sum_{i=0}^{k} \binom{k}{i} \left[\ln\left(\frac{b}{a}\right)\right]^{k-i} T_{k-i}^{(1)}(\mu;\lambda) \mathfrak{E}_{i}^{(\alpha-1)}(\mu y;\lambda;a,b,c).$$
(3.18)

An interesting special case of Theorem 7 is obtained by setting a = 1, b = c = eand  $\lambda = 1$  in (3.18).

**Corollary 3.10.** For  $n \ge 1$ ,  $\mu, \nu \in \mathbb{N}$ ,  $\alpha \ge 1$ . If  $\mu$  is even and  $\nu$  is odd then the following identity holds true:

$$\sum_{k=0}^{n-1} \binom{n}{k} E_{n-k}(0) \mu^{n-k} \sum_{i=0}^{k} \binom{k}{i} \mu^{i} \nu^{n-i} E_{k-i}^{(\alpha)}(\mu x) \sum_{j=0}^{i} \binom{i}{j} T_{i-j}^{(1)}(\nu) E_{j}^{(\alpha-1)}(\nu y)$$
$$= \sum_{k=0}^{n} \binom{n}{k} \mu^{n-k} \nu^{k} E_{n-k}^{(\alpha)}(\nu x) \sum_{i=0}^{k} \binom{k}{i} T_{k-i}^{(1)}(\mu) \mathfrak{E}_{i}^{(\alpha-1)}(\mu y)$$
(3.19)

a result given first by Liu and Wang in [6, Theorem 2.7].

88

Finally, we would like to mention that many other identities can be obtained from those shown in this paper. As example, it is easy to see that the two following relationships hold between the Apostol-Bernoulli and Apostol-Euler polynomials and the Apostol-Bernoulli and Apostol-Genocchi polynomials. Respectively, we have for  $n \in \mathbb{N}_0$ ,  $\mu, \nu \in \mathbb{N}$ ,  $\alpha \in \mathbb{N}$ ,  $a, b, c \in \mathbb{R}^+$ ,  $(a \neq b)$  and for  $\lambda \in \mathbb{C}$ ,

$$\mathfrak{E}_{n}^{(\alpha)}(x;\ \lambda;\ a,b,c) = \frac{(-2)^{\alpha}n!\ \mathfrak{B}_{n+\alpha}^{(\alpha)}(x;\ -\lambda;\ a,b,c)}{(n+\alpha)!}$$
(3.20)

and

$$\mathfrak{B}_{n}^{(\alpha)}(x;\ \lambda;\ a,b,c) = \frac{\mathfrak{G}_{n}^{(\alpha)}(x;\ -\lambda;\ a,b,c)}{(-2)^{\alpha}}.$$
(3.21)

Let us see two examples of application of these two results. First, combining (3.20) with Theorem 4 yields

**Theorem 3.11.** For  $n \in \mathbb{N}_0$ ,  $\mu, \nu \in \mathbb{N}$ ,  $\alpha \in \mathbb{N}$ ,  $a, b, c \in \mathbb{R}^+$ ,  $(a \neq b)$  and for  $\lambda \in \mathbb{C}$ . If  $\mu$  and  $\nu$  have the same parity, then the following identity holds true:

$$\sum_{k=0}^{n} \binom{n}{k} \mu^{n-k} \nu^{k} \left( \ln \left( \frac{b}{a} \right) \right)^{k} \frac{(n-k)! \mathfrak{B}_{n-k+\alpha}^{(\alpha)} \left( \nu x - \frac{\alpha \nu \ln a}{\mu \ln c}; -\lambda; a, b, c \right)}{(n-k+\alpha)!} T_{k}^{(\alpha)}(\mu; \lambda)$$

$$= \sum_{k=0}^{n} \binom{n}{k} \nu^{n-k} \mu^{k} \left( \ln \left( \frac{b}{a} \right) \right)^{k} \frac{(n-k)! \mathfrak{B}_{n-k+\alpha}^{(\alpha)} \left( \mu x - \frac{\alpha \mu \ln a}{\nu \ln c}; -\lambda; a, b, c \right)}{(n-k+\alpha)!} T_{k}^{(\alpha)}(\nu; \lambda).$$
(3.22)

Next, considering (3.21) with Theorem 1 gives

. .

**Theorem 3.12.** For all integers  $\mu > 0$ ,  $\nu > 0$ ,  $\alpha \in \mathbb{N}$ ,  $n \ge 0$ , for  $a, b, c \in \mathbb{R}^+$   $(a \ne b)$  and for  $\lambda \in \mathbb{C}$ , we have the following identity:

$$\sum_{k=0}^{n} \binom{n}{k} \mathfrak{G}_{n-k}^{(\alpha)} \left( \nu x + \frac{(\mu-1)\nu \ln a}{\mu \ln c}; -\lambda; a, b, c \right) \mu^{n-k} \nu^{k+1} \\ \times \sum_{i=0}^{k} \binom{k}{i} S_{k-i}(\mu-1,\lambda) \mathfrak{G}_{i}^{(\alpha-1)}(\mu y; -\lambda; a, b, c) \left[ \ln \left( \frac{b}{a} \right) \right]^{k-i} \\ = \sum_{k=0}^{n} \binom{n}{k} \mathfrak{G}_{n-k}^{(\alpha)} \left( \mu x + \frac{(\nu-1)\mu \ln a}{\nu \ln c}; -\lambda; a, b, c \right) \nu^{n-k} \mu^{k+1} \\ \times \sum_{i=0}^{k} \binom{k}{i} S_{k-i}(\nu-1,\lambda) \mathfrak{G}_{i}^{(\alpha-1)}(\nu y; -\lambda; a, b, c) \left[ \ln \left( \frac{b}{a} \right) \right]^{k-i}.$$

$$(3.23)$$

#### References

- M. Abramowitz and I.A. Stegun, Handbook of mathematical functions with formulas, graphs and mathematical tables, National Bureau of Standards, Washington, DC, 1964.
- Yu. A. Brychkov, On multiple sums of special functions, Integral Transform Spec. Funct. 21 (12) (2010), 877–884.
- 3. L. Comtet, Advanced combinatorics: The art of finite and infinite expansions, (Translated from french by J.W. Nienhuys), Reidel, Dordrecht, 1974.
- A. Erdelyi, W. Magnus, F. Oberhettinger, and F. Tricomi, *Higher transcendental functions*, vols.1-3,, 1953.
- 5. E.R. Hansen, A table of series and products, Prentice-Hall, Englewood Cliffs, NJ, 1975.
- Hongmei Liu and Weiping Wang, Some identities on the Bernoulli, Euler and Genocchi polynomials via power sums and alternate power sums, Discrete Mathematics 309 (2009), 3346-3363.

- D.-Q. Lu and H.M. Srivastava, Some series identities involving the generalized Apostol type and related polynomials, Comput. Math. Appl. DOI:10.1016/j.camwa.2011.09.010 (2011).
   Y. Luke, The special functions and their approximations, vols. 1-2, 1969.
- 9. Q.-M. Luo, Apostol-Euler polynomials of higher order and gaussian hypergeometric functions, Taiwanese J. Math. 10 (4) (2006), 917–925.
- 10. \_\_\_\_\_, q-extensions for the Apostol-Genocchi polynomials, Gen. Math. 17 (2) (2009), 113–125.
- 11. \_\_\_\_\_, Extension for the genocchi polynomials and its fourier expansions and integral representations, Osaka J. Math. 48 (2011), 291–310.
- Q.-M. Luo and H.M. Srivastava, Some generalizations of the Apostol-Bernoulli and Apostol-Euler polynomials, J. Math.Anal.Appl. 308 (1) (2005), 290–302.
- 13. Q.-M. Luo and H.M. Srivastava, Some generalizations of the apostol-genocchi polynomials and the stirling numbers of the second kind, Appl. Math. Comput **217** (2011), 5702–5728.
- 14. Q.M. Luo and H.M. Srivastava, Some relationships between the Apostol-Bernoulli and Apostol-Euler polynomials, Comput. Math. Appl. 51 (2006), 631–642.
- 15. F. Magnus, W. Oberhettinger and R.P. Soni, *Formulas and theorems for the special functions of mathematical physics*, Third enlarged edition, Springer-Verlag, New York, 1966.
- H.M. Srivastava, M. Garg, and S. Choudhary, A new generalization of the Bernoulli and related polynomials, Russian J. Math. Phys. 17 (2010), 251–261.
- 17. \_\_\_\_\_, Some new families of generalized Euler and Genocchi polynomials, Taiwanese J. Math. 15 (1) (2011), 283–305.
- H.J.H. Tuenter, A symmetry of power sum polynomials and Bernoulli numbers, Amer.Math.Monthly 108 (2001), 258–261.
- \_\_\_\_\_, The Frobenius problem, sums of powers of integers, and recurrences for the Bernoulli numbers, J. Number Theory 117 (2006), 376–386.
- Weiping Wang and Wenwen Wang, Some results on power sums and Apostol-type polynomials, Integral Transform Spec. Funct. 21 (4) (2010), 307–318.
- S.-L. Yang and Z.-K. Qiao, Some symmetry identities for the Euler polynomials, J. Math. Res. Exposition 30 (2010), 457–464.
- S.L. Yang, An identity of symmetry for the Bernoulli polynomials, Discrete Math. 308 (2008), 550–554.
- Zhizheng Zhang and Hanqing Yang, Several identities for the generalized Apostol-Bernoulli polynomials, Comput. Math. Appl. 56 (2008), 2993–2999.

B.-Jean Fugère

DEPARTMENT OF MATHEMATICS AND COMPUTER SCIENCE,

ROYAL MILITARY COLLEGE, KINGSTON, ONTARIO, CANADA, K7K 5L0 E-mail address: fugerej@rmc.ca

0.0

SEBASTIEN GABOURY

DEPARTMENT OF MATHEMATICS AND COMPUTER SCIENCE,

UNIVERSITY OF QUEBEC AT CHICOUTIMI, QUEBEC, CANADA, G7H 2B1 E-mail address: s1gabour@uqac.ca

RICHARD TREMBLAY

DEPARTMENT OF MATHEMATICS AND COMPUTER SCIENCE,

UNIVERSITY OF QUEBEC AT CHICOUTIMI, QUEBEC, CANADA, G7H 2B1 E-mail address: rtrembla@uqac.ca